{

"annotations"; {
"list": [
{
"builtin": 1,
"datasource": "-- Grafana --",
"enable": true,
"hide": true,
"iconColor": "rgba(0, 211, 255, 1)",
"name"; "Annotations & Alerts",
"target": {
"limit": 100,
"matchAny": false,
"tags": [],
"type": "dashboard"
2
"type": "dashboard"
}
]
2

"description": ",
"editable": true,
"fiscalYearStartMonth": 0,
"graphTooltip": O,
"id": 5061,
"iteration": 1688628301020,
"links": [],
"liveNow": false,
"panels": [
{
"collapsed": false,
"gridPos": {
"h": 1,
"w": 24,
"x": 0,
"y": 0
2
"id": 20,
"panels": [],
"title": "Summary",

"type": "row"
|3
{

"datasource™: {
"type": "prometheus",
"uid": "000000050"

b

"description™: ",



"fieldConfig": {
"defaults": {
"color": {
"mode": "palette-classic"
2
"custom™: {
"axisLabel": ",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
“linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls"; false,
"stacking": {
"group™: "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
3
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{

"color": "green",
"value": null

b
{

"color": "red",
"value": 80



"overrides": []
2
"gridPos": {

"h": 9,

"w": 12,

"x": 0,

"y": 1
2
"id" 2,

"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "bottom"
2
"tooltip™: {
"mode": "single"
}
2
"targets": [
{
"datasource™: {
"type": "prometheus",
"uid": "000000050"
2
"exemplar": true,
"expr": "running_app_num{server=\"RSS\", cluster=\"$cluster\"}",
"interval": ",
"legendFormat": "{{instance}}",
"refld"; "A"

}
1,
"title": "running_app_num",
"type": "timeseries"
13
{

"datasource": {
"type": "prometheus",
"uid": "000000050"
13
"fieldConfig": {
"defaults": {
"color": {

"mode": "palette-classic"
2
"custom™: {

"axisLabe

"axisPlacement": "auto",



"barAlignment": 0,

"drawStyle": "line",

"fillOpacity": 0,

"gradientMode": "none",

"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false

2

"linelnterpolation”: "linear",

"lineWidth": 1,

"pointSize": 5,

"scaleDistribution": {
"type": "linear"

2

"showPoints": "auto",

"spanNulls"; false,

"stacking": {
"group": "A",
"mode": "none"

2

"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{

"color": "green",
"value": null

b
{

"color": "red",
"value": 80

]
}
|3
"overrides": []
b
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
-
3



"id": 5,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "bottom"
2
"tooltip": {

"mode": "single"

}
3
"targets": [
{
"datasource": {
"type": "prometheus",
"uid": "000000050"
2
"exemplar": true,
"expr": "total_server_num{server=\"RSS\", cluster=\"$cluster\"}",
"interval": ",
"legendFormat": "{{instance}}",
"refld": "A"

}
1,

"title": "total_server_num",
"type": "timeseries"

12

{

"datasource™": {
"type": "prometheus”,
"uid": "000000050"

12
"fieldConfig": {
"defaults": {
"color": {

"mode": "palette-classic"
2
"custom™: {

"axisLabe

"axisPlacement": "auto",

"barAlignment": 0,

"drawStyle": "line",

"fillOpacity": 0,

"gradientMode": "none",

"hideFrom": {

"legend": false,
"tooltip": false,
"viz": false



2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [,
"thresholds": {

"mode": "absolute",

"steps": [

{
"color": "green",
"value": null

2

{

"color": "red",
"value": 80

}
]
12
"unit": "short"
12
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
"y": 10
2
"id": 6,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "bottom"

b



"tooltip™: {
"mode": "single"
}
3
"targets": [

{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"exemplar": true,
"expr": "total_app_num{server=\"RSS\", cluster=\"$cluster\"}",
"interval": ",
"legendFormat": "{{instance}}",

“refld": IIAII

}
1,

"title": "total_app_num",
"type": "timeseries"

2
{

"datasource™: {
"type": "prometheus",
"uid": "000000050"
2
"fieldConfig": {
"defaults": {
"color"; {
"mode": "palette-classic"
2
"custom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"

12



"showPoints": "auto",
"spanNulls"; false,
"stacking": {
"group": "A",
"mode": "none"
|3
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{

"color": "green",
"value": null

2
{

"color": "red",
"value": 80

}
]
}
2
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
"y": 10
2
"id": 29,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "bottom"
2
"tooltip": {

"mode": "single"

Y
2
"targets": [
{
"datasource™: {
"type": "prometheus",



"uid": "000000050"
2

"exemplar": true,

"expr": "exclude_server_num{server=\"RSS\", cluster=\"$cluster\"}",
"interval": ""

“IegendFormat": "{{instance}}",

"refld": "A"

}
1,

"title": "exclude_server_num",
"type": "timeseries"

b
{

"collapsed": false,
"gridPos": {
"H 1
"w": 24,
"x": 0,
"y": 19
2
"id": 4,
"panels": [],
"title": "Performance",

"type": *r
12
{

"datasource": {
"type": "prometheus",
"uid": "000000050"
2
"description":
"fieldConfig": {
"defaults": {
"color": {
"mode": "palette-classic"
2
"custom": {
"axisLabel":
aX|sPIacement“. "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false

13



"linelnterpolation™: "linear",
“"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto”,
"spanNulls": false,
"stacking": {
"group": "A",

"mode": "none"
3
"thresholdsStyle": {
"mode"; "off"

}
2
"mappings": ],
"thresholds": {
"mode": "absolute”,
"steps": [
{
"color": "green",
"value": null
2
{

"color": "red",
"value": 80

}
]
2
"unit"; "bytes"
12
"overrides": []
3
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
"y": 20
2
"id": 7,
"options": {
"legend": {
"calcs": [],
"displayMode": "list",
"placement”: "right"
I3
"tooltip": {



"mode": "single"

}
3
"targets": [
{
"datasource™: {
"type": "prometheus",
"uid": "000000050"
13
"exemplar": true,
"expr": "jym_memory_bytes_used{server=\"$service\", cluster=\"$cluster\"
,instance=~\"[[instance]]\", area=\"heap\"}",
"interval": ",
"legendFormat": "{{instance}}",
"refld": "A"

}
1,
"title": "jvm_memory_bytes_used{area=\"heap\"}",
"type": "timeseries"
12
{

"datasource™: {
"type": "prometheus",
"uid": "000000050"
2
"description™: ",
"fieldConfig": {
"defaults": {
"color": {
"mode": "palette-classic"
2
"custom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"



|3
"showPoints": "auto",
"spanNulls": false,
"stacking": {

"group": "A",

"mode": "none"
2
"thresholdsStyle": {
"mode": "off"
}
2
"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{
"color": "green",
"value": null
2
{
"color": "red",
"value": 80
}
]
2
"unit": "none"
2
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
"y": 20
2
"id": 41,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip™: {
"mode": "single"
}
2
"targets": [

{



"datasource": {
"type": "prometheus",
"uid": "000000050"

3

"exemplar": true,

"expr": "rate(jvm_gc_collection_seconds_sum{gc=\"G1 Young Generation\",
server=\"$service\", cluster=\"$cluster\" ,instance=~\"[[instance]|\"}[$__interval])",

"interval™: ""

"legendFormat": "{{instance}}",

“refld": IIAII

}
1,

"title": "jvm_gc_collection_seconds_sum{area=\"G1 Young Generation\"}",
"type": "timeseries"

2
{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"fieldConfig": {
"defaults": {
"color"; {

"mode": "palette-classic"
2
"custom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls"; false,
"stacking": {
"group": "A",
"mode": "none"

’



|3
"thresholdsStyle": {
llmodell: Iloffll

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{

"color": "green",
"value": null

}
{

"color": "red",
"value": 80

}
]
3
"unit": "bytes"
2
"overrides": []
3
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
"y": 29
3
"id": 9,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
12
"tooltip™: {
"mode": "single"
}
2
"targets": [
{

"datasource": {

"type": "prometheus”,
"uid": "000000050"

}

"exemplar": true,



"expr": "rate(total_read_data{server=\"$service\",
cluster=\"$cluster\",instance=~\"[[instance]]\"}[$__interval])",

"interval": ",

"legendFormat": "{{instance}}",

llrefldll: IIAII

}
1,
"title": "rate(total_read_data{}[$__interval])",
"type": "timeseries"
3
{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"fieldConfig": {
"defaults": {
"color"; {

"mode": "palette-classic"
2
"custom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls"; false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
b



"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{

"color": "green",
"value": null

}
{

"color": "red",
"value": 80

1
]
2
"unit": "bytes"
2
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
"y": 29
2
"id": 8,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip™: {
"mode": "single"
}
2
"targets": [
{
"datasource": {
"type": "prometheus”,
"uid": "000000050"
2
"exemplar": true,
"expr": "allocated_buffer_size{server=\"$service\",
cluster=\"$cluster\",instance=~\"[[instance]]\"}",
"interval"; "",
"legendFormat": "{{instance}}",

llrefldll: IIAII
}



1,

"title": "allocated_buffer_size",
"type": "timeseries"

12

{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
12
"fieldConfig": {
"defaults": {
"color": {

"mode": "palette-classic"
2
"custom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution™: {
"type": "linear"
2
"showPoints": "auto”,
"spanNulls": false,
"stacking": {
"group": "A",

"mode": "none"
2
"thresholdsStyle": {
"mode": "off"
}
2
"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{

"color": "green",



"value": null
3
{

"color": "red",
"value": 80

}
]
}
12
"overrides": []
3
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
"y": 38
2
"id": 11,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement”: "right"
I3
"tooltip": {

"mode": "single"

}
3
"targets": [
{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"exemplar": true,
"expr": "process_open_fds{server=\"$service\", instance=~\"[[instance]]\",
cluster=\"$cluster\"}",
"interval": "",
"legendFormat": "{{instance}}",

llrefldll: "All

}
1,
"title": "process_open_fds",
"type": "timeseries"
13
{
"datasource™: {
"type": "prometheus",



"uid": "000000050"
3
"fieldConfig": {

"defaults™: {

"color": {

"mode": "palette-classic"

}

ustom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{
"color": "green",
"value": null

2

{

"color": "red",
"value": 80
}
]



2
"unit": "bytes"
2
"overrides": []
3
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
"y": 38
2
"id": 16,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip": {
"mode": "single"
}
2
"targets": [
{
"datasource": {
"type": "prometheus”,
"uid": "000000050"
2
"exemplar": true,
"expr": "used_buffer_size{server=\"$service\", instance=~\"[[instance]]\",
cluster=\"$cluster\"}",
"interval"; "",
"legendFormat": "{{instance}}",

llrefldll: IIAII

}
1,

"title": "used_buffer_size",
"type": "timeseries"

12

{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"

2

"description™: ",

"fieldConfig": {
"defaults": {

"color": {



"mode": "palette-classic"

}

ustom™: {
"axisLabel": ",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{
"color": "green",
"value": null

2

{

"color": "red",
"value": 80

]
}
2

"overrides": []

h
"gridPos": {



"h": 9,
"w": 12,
"x": 0,
"y': 47
3
"id": 10,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip": {

"mode": "single"

}
h
"targets": [
{
"datasource": {
"type": "prometheus",
"uid": "000000050"
13

"exemplar": true,

"expr": "jvm_threads_state{server=\"$service\",
cluster=\"$cluster\",instance=~\"[[instance]]\", state=\"BLOCKED\"}",

"interval": ",

"legendFormat": "{{instance}}",

“refld": IIAII

)
1,
"file": "jvm_threads_state{state=\"BLOCKED\'}",

"type": "timeseries"
2
{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"fieldConfig": {
"defaults": {
"color"; {

"mode": "palette-classic"
2
"custom™: {
"axisLabel": ",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",



"fillOpacity": 0,

"gradientMode": "none",

"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false

2

"linelnterpolation”: "linear",

"lineWidth": 1,

"pointSize": 5,

"scaleDistribution": {
"type": "linear"

2

"showPoints": "auto”,

"spanNulls": false,

"stacking": {
"group": "A",
"mode": "none"

2

"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{
"color": "green",
"value": null

2

{

"color": "red",
"value": 80
}
]
b
"unit"; "bytes"
h
"overrides": []
3
"gridPos": {
llhll: 9,
"w": 12,
"X": 12’
llyll: 47
h
"id": 21,



"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement”: "right"
2
"tooltip": {

"mode": "single"

}
13
"targets": [

{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
3
"exemplar": true,
"expr": "rate(total_write_data{server=\"$service\",
cluster=\"$cluster\",instance=~\"[[instance]]\"}[$__interval])",
"interval"; "",
"legendFormat": "{{instance}}",

llrefldll: "All

}
1,
"title": "rate(total_write_data{}[$__interval])",
"type": "timeseries"
12
{

"datasource™": {
"type": "prometheus”,
"uid": "000000050"

3
"fieldConfig": {
"defaults": {
"color": {

"mode": "palette-classic"
2
"custom"™: {

"axisLabe

"axisPlacement": "auto",

"barAlignment": 0,

"drawStyle": "line",

"fillOpacity": 0,

"gradientMode": "none",

"hideFrom": {

"legend": false,
"tooltip": false,
"viz": false



2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [,
"thresholds": {

"mode": "absolute",

"steps": [

{
"color": "green",
"value": null

2

{

"color": "red",
"value": 80

}
]
}
12
"overrides": []
3
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
"y": 56
2
"id": 15,
"options": {
"legend": {
"calcs": [],
"displayMode": "list",
"placement”: "right"
I3
"tooltip": {



"mode": "single"

}
3
"targets": [
{
"datasource™: {
"type": "prometheus",
"uid": "000000050"
12

"exemplar": true,

"expr": "rate(grpc_total{server=\"$service\",
cluster=\"$cluster\",instance=~\"[[instance]]\"}[$__interval])",

"interval™: ",

"legendFormat": "{{instance}}",

“refld": IIAII

}
1,
"title": "rate(grpc_total{}[$__interval])",
"type": "timeseries"
12
{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"fieldConfig": {
"defaults": {
"color": {

"mode": "palette-classic"
2
"custom™: {

"axisLabe

"axisPlacement": "auto",

"barAlignment": 0,

"drawStyle": "line",

"fillOpacity": 0,

"gradientMode": "none",

"hideFrom": {

"legend": false,
"tooltip": false,
"viz": false

2

"linelnterpolation”: "linear",

"lineWidth": 1,

"pointSize": 5,

"scaleDistribution": {

"type": "linear"

13



"showPoints": "auto",
"spanNulls"; false,
"stacking": {
"group": "A",
"mode": "none"
|3
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{

"color": "green",
"value": null

2
{

"color": "red",
"value": 80

}
]
2

"unit": "short"

12

"overrides": []
2
"gridPos": {

"h": 9,

"w": 12,

"x": 12,

"y": 56
2
"id": 27,

"options™: {

"legend": {

"calcs": [],
"displayMode": "list",
"placement": "right"

2

"tooltip": {

"mode": "single"

Y
2
"targets": [

{

"datasource™: {



"type": "prometheus”,
"uid": "000000050"

2

"exemplar": true,

"expr":
"grpc_server_connection_number{server=\"$service\",instance=~\"[[instance]]\",
cluster=\"$cluster\"}",

"interval": "

"legendFormat": "{{instance}}",

"refld": "A"

}
1,

"title": "grpc_server_connection_number",
"type": "timeseries"

2
{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"fieldConfig": {
"defaults": {
"color"; {

"mode": "palette-classic"
2
"custom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls"; false,
"stacking": {
"group": "A",
"mode": "none"

’



|3
"thresholdsStyle": {
llmodell: Iloffll

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{

"color": "green",
"value": null

}
{

"color": "red",
"value": 80

1
]
2
"unit"; "bytes"
2
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
"y": 65
2
"id": 18,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip": {
"mode": "single"
Y
2
"targets": [
{

"datasource": {

"type": "prometheus”,
"uid": "000000050"

}

"exemplar": true,



"expr": "rate(total_received_data{server=\"$service\",
cluster=\"$cluster\",instance=~\"[[instance]]\"}[$__interval])",

"interval™: ",

"legendFormat": "{{instance}}",

llrefldll: IIAII

}
1,
"title": "rate(total_received_data{}[$__interval])",
"type": "timeseries"
3
{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"fieldConfig": {
"defaults": {
"color"; {

"mode": "palette-classic"
2
"custom™: {
"axisLabel": ",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls"; false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
2



"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{

"color": "green",
"value": null

}
{

"color": "red",
"value": 80

}
]
2
"unit"; "short"
2
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
"y": 65
2
"id"; 37,
"options™: {
"legend": {

"calcs": [],

"displayMode": "list",

"placement": "right"

2
"tooltip™: {
"mode": "single"
}
2
"targets": [
{

"datasource": {

"type": "prometheus”,
"uid": "000000050"

2

"exemplar": true,

"expr":
"grpc_server_executor_blocking_queue_size{server=\"$service\",instance=~\"[[instance]]\",
cluster=\"$cluster\"}",

"interval™: "",

"legendFormat": "{{instance}}",

"refld": "A"



}
1,

"title": "grpc_server_executor_blocking_queue_size",
"type": "timeseries"

2

{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"fieldConfig": {
"defaults": {
"color": {

"mode": "palette-classic"
2
"custom™: {
"axisLabel": ",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls"; false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{



"color": "green",
"value": null

b
{

"color": "red",
"value": 80

]
}
2
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
"y": 74
2
"id": 14,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip": {
"mode": "single"
}
2
"targets": [
{
"datasource": {
"type": "prometheus",
"uid": "000000050"
2

"exemplar": true,

"expr": "grpc_open{server=\"$service\", cluster=\"$cluster\",instance=~\"[[instance]|\"}",
"interval: ",

"legendFormat": "{{instance}}",

llrefldll: "All

}
1,
"title": "grpc_open",
"type": "timeseries"
13
{

"datasource™: {
"type": "prometheus",



"uid": "000000050"
13
"fieldConfig": {

"defaults™: {

"color": {

"mode": "palette-classic"

}

ustom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{
"color": "green",
"value": null

2

{

"color": "red",
"value": 80
}
]



2
"unit"; "bytes"
2
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
"y". 74
2
"id": 17,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip": {
"mode": "single"
}
2
"targets": [
{

"datasource": {

"type": "prometheus”,
"uid": "000000050"

%

"exemplar": true,

"expr": "in_flush_buffer_size{server=\"$service\",instance=~\"[[instance]]\",

cluster=\"$cluster\"}",
"interval": "",
"legendFormat": "{{instance}}",
llrefldll: IIAII

Y
1,
"title": "in_flush_buffer_size",
"type": "timeseries"
2
{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"

3
"fieldConfig": {
"defaults": {
"color": {

"mode": "palette-classic"



2
"custom": {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution™: {
"type": "linear"
2
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",

"mode": "none"
3
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{
"color": "green",
"value": null
2
{

"color": "red",
"value": 80

}
]
b

"unit": "none"

b

"overrides": []

h
"gridPos": {



"h": 9,
"w": 12,
"x": 0,
"y": 83
2
"id": 23,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip": {

"mode": "single"

}
h
"targets": [
{
"datasource": {
"type": "prometheus",
"uid": "000000050"
13

"exemplar": true,

"expr": "rate(total_require_buffer_failed{server=\"$service\",
cluster=\"$cluster\",instance=~\"[[instance]]\"}[$__interval])",

"interval": ",

"legendFormat": "{{instance}}",

“refld": IIAII

}
1,

"title": "rate(total_require_buffer_failed{}[$__intervall])",
"type": "timeseries"

2

{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"description™: ",
"fieldConfig": {
"defaults": {
"color": {
"mode": "palette-classic"
2
"custom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,



"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution™: {
"type": "linear"
2
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",

"mode": "none"
1,
"thresholdsStyle": {
"mode": "off"

Y
2
"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{
"color": "green",
"value": null
2
{

"color": "red",
"value": 80

}
]
b

"unit": "short"

2
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
"y": 83



"id": 22,
"options™: {

"legend": {

"calcs": [],

"displayMode": "list",

"placement": "right"

3
"tooltip™: {
"mode": "single"
}
3
"targets": [
{

"datasource": {
"type": "prometheus",
"uid": "000000050"

13

"exemplar": true,

"expr": "rate(storage_total_write_local{server=\"$service\",
cluster=\"$cluster\",instance=~\"[[instance]\"}[$__interval])",
"interval": ",
"legendFormat": "{{instance}}",
"refld": "A"
}
1,
"title": "rate(storage_total_write_local{}[$__interval])",
"type": "timeseries"
2
{
"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"fieldConfig": {
"defaults": {
"color"; {
"mode": "palette-classic"
2
"custom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,



"viz": false
12
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
12
"showPoints": "auto",
"spanNulls"; false,
"stacking": {
"group": "A",

"mode": "none"
3
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{
"color": "green",
"value": null

2

{

"color": "red",
"value": 80
}
]
2
"unit": "none"
2
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
"y": 92
2
"id": 28,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"



I3
"tooltip": {

"mode": "single"

}
3
"targets": [

{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
3
"exemplar": true,
"expr": "app_num_with_node{server=\"$service\",instance=~\"[[instance]]\",
cluster=\"$cluster\"}",
"interval": "",
"legendFormat": "{{instance}}",

llrefldll: "AI'

}
1,
"title": "app_num_with_node",
"type": "timeseries"
13
{

"datasource™: {
"type": "prometheus",
"uid": "000000050"

13
"fieldConfig": {
"defaults": {
"color": {

"mode": "palette-classic"
2
"custom"™: {

"axisLabe

"axisPlacement": "auto",

"barAlignment": 0,

"drawStyle": "line",

"fillOpacity": 0,

"gradientMode": "none",

"hideFrom": {

"legend": false,
"tooltip": false,
"viz": false

2

"linelnterpolation”: "linear",

"lineWidth": 1,

"pointSize": 5,

"scaleDistribution™: {



"type": "linear"
|3
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",
"mode": "none"
|3
"thresholdsStyle": {
"mode": "off"

}
3
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{
"color": "green",
"value": null

b
{

"color": "red",
"value": 80

}
]
2

"unit"; "none"

b

"overrides": []
2
"gridPos": {

"h": 9,

"w": 12,

"x": 12,

"y": 92
2
"id": 31,

"options": {

"legend": {
"calcs": [,
"displayMode": "list",
"placement": "right"
2
"tooltip": {
"mode": "single"
Y
|3

"targets": [



{
"datasource™: {
"type": "prometheus”,
"uid": "000000050"
12
"exemplar": true,
"expr": "storage_failed_write local{server=\"$service\",instance=~\"[[instance]]\",
cluster=\"$cluster\"}",
"interval"; "",
"legendFormat": "{{instance}}",

llrefldll: IIAII

}
1,

"title": "storage_failed_write_local",
"type": "timeseries"

I3

{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"

2

"fieldConfig": {

"defaults": {
"color": {
"mode": "palette-classic"
2
"custom™: {
"axisLabel": ",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto”,
"spanNulls": false,
"stacking": {
"group": "A",



"mode": "none"
3
"thresholdsStyle": {
"mode": "off"

Y
2
"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{
"color": "green",
"value": null
2
{

"color": "red",
"value": 80

}
]
2

"unit": "none"

3
"overrides": []
3
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
"y": 101
2
"id": 30,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
12
"tooltip": {

"mode": "single"

}
2
"targets": [
{
"datasource™: {
"type": "prometheus",
"uid": "000000050"
3

"exemplar": true,



"expr": "rate(total_dropped_event_num{server=\"$service\",
cluster=\"$cluster\",instance=~\"[[instance]]\"}[$__interval])",

"interval™: ",

"legendFormat": "{{instance}}",

llrefldll: IIAII

}
1,
"title": "rate(total_dropped_event_num{}[$__interval])",
"type": "timeseries"

2
{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"description™: ",
"fieldConfig": {
"defaults": {
"color": {
"mode": "palette-classic"
2
"custom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",

"mode": "none"
3
"thresholdsStyle": {
"mode": "off"

}



2
"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{
"color": "green",
"value": null
2
{

"color": "red",
"value": 80

}
]
2

"unit": "none"

}
3
"gridPos": {

"h": 9,

"w": 12,

"x": 12,

"y": 101
2
"id": 24,

"options™: {

"legend": {

"calcs": [],
"displayMode": "list",
"placement”: "right"

12

"tooltip": {

"mode": "single"

}
3
"targets": [
{
"datasource": {
"type": "prometheus”,
"uid": "000000050"
3
"exemplar"; true,
"expr": "rate(total_write_slow{server=\"$service\",
cluster=\"$cluster\",instance=~\"[[instance]|\"}[$__interval])"
"interval™: "",
"legendFormat": "{{instance}}",
"refld": "A"

verrides": []



}
1,

"title": "rate(total_write_slow{}[$__interval])",
"type": "timeseries"

2

{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"fieldConfig": {
"defaults": {
"color": {

"mode": "palette-classic"
2
"custom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls"; false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{



"color": "green",
"value": null

}
{

"color": "red",
"value": 80

}
]
12
"unit": "none"
2
"overrides": []
3
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
"y": 110
3
"id": 32,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip™: {
"mode": "single"
}
2
"targets": [
{

"datasource": {
"type": "prometheus”,
"uid": "000000050"
2
"exemplar": true,
"expr": "storage_failed_write_remote_dw{server=\"$service\",instance=~\"[[instance]]\",
cluster=\"$cluster\"}",
"interval"; "",
"legendFormat": "{{instance}}",

llrefldll: "All

}
1,
"title": "storage_failed_write_remote_dw",
"type": "timeseries"
I3
{



"datasource™": {
"type": "prometheus”,
"uid": "000000050"
13
"description™: ",
"fieldConfig": {
"defaults": {
"color": {

"mode": "palette-classic"
2
"custom™: {
"axisLabel": ",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation": "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls"; false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{
"color": "green",
"value": null

2

{

"color": "red",



"value": 80

}
]
3
"unit": "none"
2
"overrides": []
3
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
"y": 110
2
"id": 25,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"

}

"tooltip™: {
"mode": "single"
}
13
"targets": [
{

"datasource": {
"type": "prometheus”,
"uid": "000000050"
13
"exemplar": true,
"expr": "rate(total_write_exception{server=\"$service\",instance=~\"[[instance]]\",
cluster=\"$cluster\"}[$__interval])",
"interval"; "",
"legendFormat": "{{instance}}",

llrefldll: "All

}
],
"title": "rate(total_write_exception{}[$__interval])",
"type": "timeseries"
2
{
"datasource™: {
"type": "prometheus",
"uid": "000000050"

3
"fieldConfig": {



"defaults": {
"color"; {

"mode": "palette-classic"
2
"custom™: {

"axisLabe

"axisPlacement": "auto",

"barAlignment": 0,

"drawStyle": "line",

"fillOpacity": 0,

"gradientMode": "none",

"hideFrom": {

"legend": false,
"tooltip": false,
"viz": false

2

"linelnterpolation”: "linear",

"lineWidth": 1,

"pointSize": 5,

"scaleDistribution™: {

"type": "linear"

2

"showPoints": "auto”,

"spanNulls": false,

"stacking": {

"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{
"color": "green",
"value": null

b
{

"color": "red",
"value": 80

}
]

}

2

nit": "none"



"overrides": []
2
"gridPos": {

"h": 9,

"w": 12,

"x": 0,

"y": 119

3
"id": 26,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip™: {
"mode": "single"
}
3
"targets": [
{
"datasource": {
"type": "prometheus",
"uid": "000000050"
2
"exemplar": true,
"expr": "total_write_handler{server=\"$service\",instance=~\"[[instance]]\",
cluster=\"$cluster\"}",
"interval": "",
"legendFormat": "{{instance}}",
"refld": "A"

}
1,

"title": "total_write_handler",
"type": "timeseries"

12

{

"datasource": {
"type": "prometheus”,
"uid": "000000050"
2
"description™: ",
"fieldConfig": {
"defaults": {
"color": {
"mode": "palette-classic"
3

"custom"™: {



"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution™: {
"type": "linear"
2
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",

"mode": "none"
3
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{
"color": "green",
"value": null

}
{

"color": "red",
"value": 80

}
]
}

nit": "none"
3
"overrides": []
h
"gridPos": {
llhll: 9’
"w": 12,



"x": 12,
"y": 119
2
"id": 38,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip": {
"mode"; "single"
}
2
"targets": [
{
"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"exemplar": true,
"expr":
"rate(storage_total write_remote_dw{server=\"$service\",instance=~\"[[instance]]\",
cluster=\"$cluster\"}[$__interval])",
"interval"; "",
"legendFormat": "{{instance}}",
"refld": "A"

}
1,
"title": "rate(storage_total_write_remote_dw{}[$__interval])",
"type": "timeseries"
13
{

"datasource™: {
"type": "prometheus",
"uid": "000000050"
13
"description™: ",
"fieldConfig": {
"defaults": {
"color"; {

"mode": "palette-classic"
2
"custom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",



"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto”,
"spanNulls": false,
"stacking": {
"group": "A",

"mode": "none"
h
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{

"color": "green",
"value": null

}
{

"color": "red",
"value": 80

}
]
2
"unit": "none"
|3
"overrides": []
3
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
"y": 128
|3
"id": 50,



"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement”: "right"
2
"tooltip": {

"mode": "single"

}
3
"targets": [

{

"datasource™: {

"type": "prometheus”,
"uid": "000000050"

2

"exemplar": true,

"expr":
"rate(event_size_threshold_level1{server=\"$service\",instance=~\"[[instance]]\",
cluster=\"$cluster\"}[$__interval])",

"interval": ""

"legendFormat": "{{instance}}",

"refld": "A"

}
1,

"title": "rate(event_size_threshold_level1{}[$__interval])",
"type": "timeseries"

12

{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
2
"description™: ",
"fieldConfig": {
"defaults": {
"color": {
"mode": "palette-classic"
2
"custom"™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,



"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution™: {
"type": "linear"
2
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",

"mode": "none"
3
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{
"color": "green",
"value": null
2
{

"color": "red",
"value": 80

}
]
2

"unit": "none"

2
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
"y": 128
2
"id": 51,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",



"placement": "right"
2
"tooltip": {
"mode": "single"
}
3
"targets": [
{
"datasource": {
"type": "prometheus",
"uid": "000000050"
2
"exemplar": true,
"expr":
"rate(event_size threshold_level2{server=\"$service\",instance=~\"[[instance]]\",
cluster=\"$cluster\"}[$__interval])",
"interval"; "",
"legendFormat": "{{instance}}",
"refld": "A"

}
1,
"title": "rate(event_size_threshold_level2{}[$__interval])",
"type": "timeseries"
I3
{

"datasource™: {
"type": "prometheus”,
"uid": "000000050"
3
"description™: ",
"fieldConfig": {
"defaults™: {
"color": {

"mode": "palette-classic"
2
"custom™: {
"axisLabel": ",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2

"linelnterpolation”: "linear",



"lineWidth": 1,

"pointSize": 5,

"scaleDistribution": {
"type": "linear"

2

"showPoints": "auto",

"spanNulls"; false,

"stacking": {
"group": "A",
"mode": "none"

2

"thresholdsStyle": {
"mode": "off"

}
3
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{

"color": "green",
"value": null

b
{

"color": "red",
"value": 80

}
]
2

"unit": "none"

12

"overrides": []
2
"gridPos": {

"h": 9,

"w": 12,

"x": 0,

"y 137
3
"id": 52,

"options™: {

"legend": {

"calcs": [],
"displayMode": "list",
"placement": "right"

12

"tooltip": {

"mode": "single"



}
2
"targets": [

{

"datasource": {

"type": "prometheus”,
"uid": "000000050"

2

"exemplar": true,

"expr":
"rate(event_size_threshold_level3{server=\"$service\",instance=~\"[[instance]]\",
cluster=\"$cluster\"}[$__interval])",

"interval": ",

"legendFormat": "{{instance}}",

"refld": "A"

}
1,

"title": "rate(event_size_threshold_level3{}[$__interval])",
"type": "timeseries"

2
{

"datasource": {
"type": "prometheus",
"uid": "000000050"
2
"description™: ",
"fieldConfig": {
"defaults": {
"color": {
"mode": "palette-classic"
2
"custom™: {
"axisLabe ,
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"



|3
"showPoints": "auto",
"spanNulls": false,
"stacking": {

"group": "A",

"mode": "none"
2
"thresholdsStyle": {
"mode": "off"
Y
2
"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{
"color": "green",
"value": null
2
{
"color": "red",
"value": 80
}
]
2
"unit": "none"
2
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
"y 137
2
"id": 53,
"options": {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip™: {
"mode": "single"
Y
2
"targets": [

{



"datasource": {
"type": "prometheus",
"uid": "000000050"
13
"exemplar": true,
"expr":
"rate(event_size threshold_level4{server=\"$service\",instance=~\"[[instance]]\",
cluster=\"$cluster\"}[$__interval])",
"interval™: ""
“IegendFormat": "{{instance}}",
"refld": "A"

}
1,

"title": "rate(event_size_threshold_level4{}[$__interval])",
"type": "timeseries"

13

{

"collapsed": true,
"gridPos": {
",
"w": 24,
"x": 0,
"y": 146
2
"id": 40,
"panels": [
{
"datasource": {
"type": "prometheus”,
"uid": "000000050"
13
"description":
"fieldConfig": {
"defaults": {
"color"; {
"mode": "
12
"custom": {
"axisLabel":
aX|sPIacement". "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode":
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false

palette-classic"

none",



2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
2
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{

"color": "green"
2
{

"color": "red",
"value": 80

}
]
2
"unit": "ms"
3
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
e
2
"id": 36,
"options": {
"legend": {
"calcs": [],
"displayMode": "list",
"placement”: "right"
2
"tooltip": {



"mode": "single"

}
3
"targets": [
{
"datasource™: {
"type": "prometheus",
"uid": "000000050"
3
"exemplar"; true,
"expr": "grpc_send_shuffle_data_transport_latency{quantile=\"$quantile\",
server=\"$service\", cluster=\"$cluster\" ,instance=~\"[[instance]]\"}",
"interval": ",
"legendFormat": "{{instance}}",
"refld": "A"

}
1,
"title": "grpc_send_shuffle_data_transport_latency{quantile=\"$quantile\"}",
"type": "timeseries"
12
{

"datasource": {
"type": "prometheus",
"uid": "000000050"
2
"description™: ",
"fieldConfig": {
"defaults": {
"color": {
"mode": "palette-classic"
12
"custom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation": "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"



2
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"
}
13
"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{
"color": "green"
12
{
"color": "red",
"value": 80
}
]
3
"unit": "ms"
2
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
"y 4
3
"id": 46,
"options": {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
12
"tooltip": {
"mode": "single"
}
12
"targets": [
{

"datasource": {



"type": "prometheus”,
"uid": "000000050"
2
"exemplar": true,
"expr": "grpc_send_shuffle_data_process_latency{quantile=\"$quantile\",
server=\"$service\", cluster=\"$cluster\" ,instance=~\"[[instance]]\"}",
"interval": ",
"legendFormat": "{{instance}}",
"refld": "A"

}
1,
"title": "grpc_send_shuffle_data_process_latency{quantile=\"$quantile\"}",
"type": "timeseries"
12
{

"datasource™: {
"type": "prometheus",
"uid": "000000050"
3
"description™: ",
"fieldConfig": {
"defaults": {
"color"; {

"mode": "palette-classic"
2
"custom": {
"axisLabel": ",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls"; false,
"stacking": {
"group": "A",
"mode": "none"



2
"thresholdsStyle": {
"mode": "off"
}
2
"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{
"color": "green"
2
{
"color": "red",
"value": 80
}
]
2
"unit": "ms"
2
"overrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
"y": 13
2
"id": 45,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip": {

"mode": "single"
}
h
"targets": [
{

"datasource™: {

"type": "prometheus",
"uid": "000000050"
b

"exemplar": true,

"expr": "grpc_get_memory_shuffle_data_transport_latency{quantile=\"$quantile\",
server=\"$service\", cluster=\"$cluster\" ,instance=~\"[[instance]]\"}",



"interval": ",
"legendFormat": "{{instance}}",
llrefldll: IIAII

}
1,

"title": "grpc_get_memory_shuffle_data_transport_latency{quantile=\"$quantile\"}",
"type": "timeseries"

12
{

"datasource": {
"type": "prometheus”,
"uid": "000000050"
12
"description™: ",
"fieldConfig": {
"defaults": {
"color": {

"mode": "palette-classic"
2
"custom": {

"axisLabe

"axisPlacement": "auto",

"barAlignment": 0,

"drawStyle": "line",

"fillOpacity": 0,

"gradientMode": "none",

"hideFrom": {

"legend": false,
"tooltip": false,
"viz": false

12

"linelnterpolation”: "linear",

"lineWidth": 1,

"pointSize": 5,

"scaleDistribution™: {

"type": "linear"

12

"showPoints": "auto",

"spanNulls": false,

"stacking": {

"group": "A",

"mode": "none"
2
“"thresholdsStyle": {
"mode": "off"
}
2
"mappings": ],



"thresholds": {
"mode": "absolute",
"steps": [

{
"color": "green"
2
{
"color"; "red",
"value": 80

}
]
2
"unit"; "ms"
3
"overrides": []
3
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
"y": 13
2
"id": 47,
"options": {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip": {

"mode": "single"

}
3
"targets": [
{

"datasource": {
"type": "prometheus”,
"uid": "000000050"
2
"exemplar"; true,
"expr": "grpc_get_memory_shuffle_data_process_latency{quantile=\"$quantile\",
server=\"$service\", cluster=\"$cluster\" ,instance=~\"[[instance]]\"}",
"interval"; "",
"legendFormat": "{{instance}}",

llrefldll: ||A"

}
1,

"title": "grpc_get_memory_shuffle_data_process_latency{quantile=\"$quantile\"}",



"type": "timeseries"
|3
{

"datasource": {
"type": "prometheus",
"uid": "000000050"
2
"description": ",
"fieldConfig": {
"defaults": {
"color": {
"mode": "palette-classic"
12
"custom™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation": "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
12
"showPoints": "auto",
"spanNulls"; false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"

}
12
"mappings": [],
"thresholds": {

"mode": "absolute",

"steps": [

{

"color": "green"

}



{

"color": "red",
"value": 80

}
]
}
"unit": "ms"

}

verrides": []
2
"gridPos": {
"h": 9,
"w": 12,
"x": 0,
"y": 22
2
"id": 48,
"options™: {
"legend": {

"calcs": [],

"displayMode": "list",

"placement": "right"

2
"tooltip": {
"mode": "single"
}
2
"targets": [
{

"datasource™: {

"type": "prometheus”,
"uid": "000000050"

2

"exemplar": true,

"expr": "grpc_get_local_shuffle_data_transport_latency{quantile=\"$quantile\",
server=\"$service\", cluster=\"$cluster\" ,instance=~\"[[instance]]\"}",
"interval": "",

"legendFormat": "{{instance}}",
"refld": "A"

}
1,

"title": "grpc_get_local_shuffle_data_transport_latency{quantile=\"$quantile\"}",
"type": "timeseries"

2

{

"datasource": {

"type": "prometheus”,
"uid": "000000050"



2
"description™: ",
"fieldConfig": {
"defaults": {
"color"; {
"mode": "palette-classic"
2
"custom"™: {
"axisLabel": "",
"axisPlacement": "auto",
"barAlignment": 0,
"drawStyle": "line",
"fillOpacity": 0,
"gradientMode": "none",
"hideFrom": {
"legend": false,
"tooltip": false,
"viz": false
2
"linelnterpolation”: "linear",
"lineWidth": 1,
"pointSize": 5,
"scaleDistribution": {
"type": "linear"
2
"showPoints": "auto",
"spanNulls": false,
"stacking": {
"group": "A",
"mode": "none"
2
"thresholdsStyle": {
"mode": "off"
}
2
"mappings": [],
"thresholds": {
"mode": "absolute",
"steps": [
{
"color": "green"
2
{
"color"; "red",
"value": 80
}
]
2



llunitll: "mS"

}

verrides": []
13
"gridPos": {
"h": 9,
"w": 12,
"x": 12,
"y": 22
12
"id": 49,
"options™: {
"legend": {
"calcs": [],
"displayMode": "list",
"placement": "right"
2
"tooltip": {

"mode": "single"

}
13
"targets": [
{

"datasource™: {
"type": "prometheus",
"uid": "000000050"
13
"exemplar"; true,
"expr": "grpc_get _local_shuffle_data_process_latency{quantile=\"$quantile\",
server=\"$service\", cluster=\"$cluster\" ,instance=~\"[[instance]]\"}",
"interval": ",
"legendFormat": "{{instance}}",

"refld": IIAII

}
1,
"title": "grpc_get_local_shuffle_data_process_latency{quantile=\"$quantile\"}",
"type": "timeseries"
}
1,
"title": "GRPC",

"type": "row"

}
1,

"refresh": ",
"schemaVersion": 34,
"style": "dark",

"tags™ [
"templating": {



"list": [
{
"current"; {
"selected": true,
"text": "rss-newcluster",

"value": "rss-newcluster"
2
"hide": 0,
"includeAll": false,
"multi"; false,
"name": "cluster”,
"options": [

{

"selected": false,
"text": "rss-dev",

"value": "rss-dev"
2
{
"selected": false,
"text": "rss-ide",

"value": "rss-ide"
"selected": true,
"text": "rss-newcluster",

"value": "rss-newcluster"

}
]

query": "rss-dev,rss-ide,rss-newcluster",
"queryValue": ",
"skipUrlSync": false,

"type": "custom"
2
{

"current"; {
"selected": false,
"text": "RSS",
"value": "RSS"

2

"hide": 0,

"includeAll": false,

"multi": false,

"name": "service",

"options": [

{
"selected": true,
"text": "RSS",
"value": "RSS"



}
],
"query": "RSS",
"queryValue": ",
"skipUrlSync": false,

"type": "custom"
2
{
"current": {
"selected": false,
"text": [
"All"
1,
"value": [
"$_ all"
]
12
"datasource": {
"type": "prometheus”,
"uid": "000000050"
2
"definition": "label_values(jvm_classes_loaded{server=\"$service\", cluster=\"$cluster\"},
instance)",
"hide": 0,
"includeAll": true,
"label": "instance",
"multi"; true,
"name": "instance",
"options": [],
"query": {
"query": "label_values(jvm_classes_loaded{server=\"$service\", cluster=\"$cluster\"},
instance)",
"refld": "StandardVariableQuery"
2
"refresh": 1,
"regex": ",
"skipUrlSync": false,
"sort": O,
"type": "query"
2
{
"current": {
"selected": false,
"text": [
"All"
]

value™: [
||$_a”n



]
2
"datasource": {
"type": "prometheus",
"uid": "yTRoj1g4k"
2
"definition™:
"label_values(node_cpu_seconds_total{server=\"node_exporter\",cluster=\"$cluster\"},
instance)",
"hide": 0,
"includeAll": true,
"label": "nodeinstance",
"multi": true,
"name": "nodeinstance",
"options": [],
"query": {

"query":
"label_values(node_cpu_seconds_total{server=\"node_exporter\",cluster=\"$cluster\"},
instance)",

"refld": "StandardVariableQuery"

2
"refresh™: 2,
"regex": ",
"skipUrlSync": false,
"sort": 0,
"type": "query"

2

{
"current": {

"selected": false,

"text": "0.5",

"value": "0.5"

2

"hide": 0,
"includeAll": false,
"multi": false,
"name": "quantile",
"options": [

{

"selected": true,
"text": "0.5",
"value": "0.5"

2

{

"selected": false,
"text": "0.75",
"value": "0.75"

}



{

"selected": false,
"text": "0.9",
"value": "0.9"

2
{

"selected": false,
"text": "0.95",
"value": "0.95"

2

{

"selected": false,
"text": "0.99",
"value": "0.99"

}
1,
"query": "0.5,0.75,0.9,0.95,0.99",
"queryValue": ",
"skipUrlSync": false,

"type": "custom"”

}

]
2
"time": {

"from": "now-3h",

"to": "now"
2
"timepicker": {},
"timezone": ",
"title": "rss-metrics_bak",
"uid": "F55Bs46nh",
"version": 49,
"weekStart": "



